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Sleyenrse : (1) maids lamsseEnnd sflures el uard o drarsm ererugeaman
silurisgs QAemereralb. FauuSleler @Gapulmludear Samps
sangnenfliumetfliib o1 anquins Qgfelssea|ib.

(2) Beod DG SHLY ewulemer erpFeugsNEGLD iigs&CaTi(HeusnELwD
Lwe(h&s Gelami@id. LiL_mhise ﬁus&uﬂ@ L6 (H& &6 LD.

' al
Instructions : (1) Check the question‘paper m printing. If there is any lack of

fairrw@@ﬁr@thc Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

GO : @euelamssrer Bes@, LiGHsamars Qamemg,.
Note : This question paper contains four parts.

U@l - 1/ PART -1

@O : (i) Semengg cfammss@Eps@n elenwelldse,i. 12x1=12
(ii) G@ar@ssiul_(herer mrem@ edlensafler W& D eHyenw aflent_ullaner
GCarbOshss @GN HLer elenL ulemanb Caisg er(pseLb.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1. @&l Qeverdler o (BUCLMSSLIEE rliGUmgLD S UL EnL L.
CORCILICT
(<) réli&@
(@) Cpisghl <vwg adissH
() &
Magnification of a convex lens is always :
(a) Positive
(b) Negative

(c) Either positive (or) negative

(d) Zero

2. SpssanL ot elaamuie Gaul ol smeilen Hlepm erawranfled Bren@ Genpuld ?
(<) o Sangay (<) B Slevsay

(@) v flenzey (FF) Bl ymes Slengey

In which of the following reaction, the mass number decreases by four of the

daughter nucleus ?
(a) o decay (b) P decay

(c) v decay (d) neutron decay

3. fiflewr Symbd epovsamm Hlenm

(=4) 2 8 (<) 16 & (@) 18 & (/r) 8 4l
The gram molecular mass of water is :

(@) 2¢g (b) 16g (c) 18¢g (d 8¢g
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EDESET_cUDMIET 6Tg FTeusbsenFLILITem ?
(=1) S _CLme (<) Quen&er
(&) B () <pevsammed
Which of the following is the universal solvent ?

(a) Acetone (b) Benzene

(c) Water (d) Alcohol

IUPAC Quuf(®seienuly aoiqmanhéssrs CarssiuBin @rearLmb blepe
e erm(h N

(1) < (<2b) 2196 <jblevid

(@) oo (FF) qpen

The secondary suffix used in IUPAC nomenclature of an aldehyde is

(a) -ol (b) -oic acid

(c) -al (d) -one

@ meurpeilgefien @)suwibd SIODEET GG g

(=) 3 (<) 4 @) 2 (%) 5
The heart of amphibians possess chambers.

(a) 3 (b) 4 () 2 (d) 5
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7.

Syl spmné @& perL CumSng.
(1) usRIGaTlaD

(<=,) el GLramer_flumedler o I galplold

(&) UpgGamed giamer

(/) el CLmsmewr_Mwureler o L Lng Feuay
Kreb’s cycle takes place in

(a) chloroplast

(b) mitochondrial matrix

(c) stomata

(d) inner mitochondrial membrane

@ (pever HlLTTenger srerTlLHIb @)D

(1) sawr aNliflsSlenty (<=1) QumepeaTL LD 6]
(&) euer &(m () seung erlidadlwid
Bipolar neurons are found in :

(a) retina of eye (b) cerebral cortex

(c) embryo (d) respiratory epithelium

feGaLilufler alleneToumed 2 (Heumelg)

() GavGumiaer (<) Qarefliqum

(@) ewaCGami (FF)  SlermOGLmevGumiaer
Syngamy results in the formation of

(a) zoospores (b) conidia

(c) zygote (d) chlamydospores
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10. Qummsss

11.

(1)
(2)
(3)

(4)

gmi&Gamom (i) Fstiugqurer L

& Germim (ii) SsliLguiTer SrsLD
Limedlig Lidlwim (iii) @evewrliysdla LHmCHT
Ll Gugglum (iv) euuddm ybmCrmil

(1) (1)-(ii), (2)-@v), (3)-(i), (4)-()

(=) (1)-(v), (2)-(ii), (3)-(1), (4)-(ii)
(&) (1)-0), (2)-(i), (3)-(iv), (4)-(i)
(/) (1)-Gv), (2)-(), (3)-(i), (4)-(iii)

Match the following :

(1)
(2)
(3)
(4)
(a)
(b)
(c)
(d)

Sarcoma (i)  Excessive hunger
Carcinoma (ii) Excessive thirst
Polydipsia (ii1)) Connective tissue cancer
Polyphagia (iv) Stomach cancer

(1)-(iii), (2)-(iv),” (3)-(ii), (4)-(i)
(1)-(iv), (2)-(ii), (3)-(1), (4)-(ii)
(1)-(), (2)-(ii), (3)-@v), (4)-(ii)
(1)-@v), (2)-(1), (3)-(i1), (4)-(iti)

b Hlapsslufen srreorons 9 : 3 : 3 : 1 o (Heundlmg) ?

(=) dlge (<) 6G0ECs S5O
(&) srmlendl @gikiGseD () @OBE s
9:3:3:1ratiois due to :

(a) Segregation (b) Crossing over
(c) Independent assortment (d) Recessiveness
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12. el Ly @ar greurelle eranaid Camvene (pset (Psedled MipsLILIHSGSH e
(1) Qamymeotm (<) J.W. anmiev6l LT

(&) Qpmermed(H Fmav (FF) ablyCam 4 aflfle

The term Ethnobotany was coined by :
(a) Khorana (b) J.W. Harshberger

(c) Ronald Ross (d) Hugo de Vries

L@ - 11 / PART - II

@MUY : eTemeuCuienid e alanTés@Ehd@ allenwelldsab. ellerm erapr 22 -5

SL_Lmuwng olanL_wieflése]m. 7x2=14
Note : Answer any seven questions. Question No. 22 is Compulsory.
13. Hleneold — eUETWMIGSED. DHET CUNSSHET WTenal ?

Define inertia. Give._its,classification.

14. curand gret fev Hlpwrss Corarmdma ?

Why does the sky appear blue in colour ?

15. o sCamfl — euerumIGsaLD.

Define one Calorie.

16. <eusr Crr aflduder LwearUr(hiseaie CHEILD @) TeuTiq aned: Fnmis.

Mention any two applications of Avogadro’s Law.



17.

18.

19.

20.

21.

22.
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SlleLulled sremriu(Bibd gL (hewrent SHeUEMLILIGEMGET GT(LHSHIS.

List out the parasitic adaptations in leech.

epeneTE LI LTHETULITE eeusHl(hés 2 Sallb 2 mILiL|&eT wmeney ?

What are the structures involved in the protection of brain ?

Qarhssiiul_@erer ULSSed A, B, C wHmib D 8 LUMSHRSMET L UITETLD

STERT6YLD.

Identify the parts A, B, C and D in the given figure.

9 ligamed

euGleur
oyt Qurlufwe ?ajml;ru_@(&%;mm.

Define genetic engineering.

avlenr_() (SPRITE) erenimimed ereviast ?

What is Sprite ?

2 §.4 Hlevpeupeyenw ¢ sHflwss’ QummeTTearg iamidbsm @eameamellarGumg,
QeuafludBb Cwrss Hneamas Hamsdlhs.

Calculate the amount of energy released when a radioactive substance undergoes
fusion and results in a mass defect of 2 kg.
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U@ - III / PART - III

@MY : aTemeuCuenid e alamssEers@ e wallEsa|b. elarm aeam 32 -&d

SL_LMuwns 6l wel&Esa|b. 7x4=28
Note : Answer any seven questions. Question No. 32 is Compulsory.
23. aflenguller swemumlenl Bl L afler @rewrLmbd Nl epad Hmedl.

Deduce the equation of force using Newton’s Second Law of Motion.

24. Sl lunienel wHmib grrliurrenel @Gapurhsener GCeumili(hssis.

Differentiate the eye defects : Myopia and Hypermetropia.

25. () BEwmedl dieynise cremmmed eremesr ?
(<=4) bl erdlErmellssea erarmmed eremer ?
(a) What do you understand by the term Ultrasonic Vibration ?

(b) What is meant by reflection of sound ?

26. (1) @QTFSHOEN6 GCTRTDTE) TeTaT ? T(HSHISHTL(H H(HS.

(=) smilrsdlen gCoseId @TenT(h LWGTLT(HSEET Fnmis.
(a) What is an amalgam ? Give an example.

(b) Mention any two uses of copper.

27. Gemluder gnienbTéssd (panneil e96eTdEs.

Explain the mechanism of cleansing action of soap.



28.

29.

30.

31.

32.
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(=) @D STaUrmiGaTe® sTaTlU(L PN eUMSWTEr S&s5 gm@lysamer
GINTICE:S

(=) @allFCargemasamw LTHEGL srrailser wrenel ?

(a) Name the three basic tissue systems in a flowering plant.

(b) What are the factors affecting photosynthesis ?

@Qrsss5Hen Lienflsamers L iquisd(Hs.

Enumerate the functions of blood.

wapfr Cellliy Smwliysar aiaurm Haossy BT wlLsmngs dsflsas

C&Fwidlermerr ?

How do rainwater harvesting structures recharge ground water ?

(=1) SCGamenL_y, sfCeanment 1 Lbml Bl oibleug) eremer. ?
(<)) HOCTCFTOSET GTETMTED GTEITET ?

(a) What do you understand by the term phenotype and genotype ?

(b) What are allosomes ?

(=) 0.01 M HNO, sanygeilenr pH wSlliL| srems.

(<) 100 &. Bflev 25 4. sTGsmrWE SIS @ Fmrsed swrlssliLGiSng.
<iger Henrblummetlen Hlenm &g,@ﬁ’g,gmg,é; HITCIT.

(a) Calculate the pH of 0.01 M solution of HNO,.

(b) A solution is prepared by dissolving 25 g sugar in 100 g of water. Calculate
the mass percentage of solute.
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U@sl - IV / PART - IV
@SN : Semensgl clamssErsEh elalwealdse . Comeuwmear @)L nhigafled LiL LD
QU TWQLD. 3x7=21
Note : Answer all the questions. Draw diagrams wherever necessary.
33. (=) (i) 09 Ceuliu a9 — cuaTLNGSHE|LD.
(i) HlE&se womb GErmlwib sobhs 2 Gorsssoamal Wlarsmy GeuliLiGHmib
ETSEIONG LLaTUhSSULI(NeUG 66T ?
(iii) e W6 2 (HE e eTeuaumm W6 FTHRTBIGMET LITHISTSH DS ?
S|6060F)
(=) (i) GBLLane eTermmed ereoer ?
(ii) SEMSHIH 2D GTETDITE GTemen ? AFH6 @QeTHUIOWITS Limsnigeflen
Qeweur@aamer eleuflésalb.
(a) (i) State Joule’s Law of Heating.
(i) An alloy of nickel and chromium is used as the heating element.
Why ?
(iii)) How does a fuse wire protect electrical appliances ?
OR
(b) (i) What is a longitudinal wave ?

(ii) What is a nuclear reactor ? Explain its essential parts with their
functions.

34. () (i) SASSL(H eTernT — UMTULIMIGSHELD.
(i) H,SO, -é 2 dter geouiflen geis @QewiGamens Eramms.
(iii) FFRLD 2 MHlEh&D CaMbBISERSELW, FID 2 NEpdlds Henrub CaTokIgEhsE L0
e Cuiwimer Geumum(hEer wrenael ?
S|6060F)
(<) (i) Ber wHmbd et ellemergamer Coupu(HSgis.
(i) pOHBlMOWTESD lenar eratmmed eremer ? THSHEHTL(H S(Hs.
(iii) ugeuflens Gambrisaier gGHEID FPETN LIGTLSMETES Fnmis.
(a) (i) Define : Atomicity.
(ii) Calculate the percentage of sulphur in H,SO,.
(iii) In what way hygroscopic substances differ from deliquescent substances.
OR
(b) (i) Differentiate reversible and irreversible reaction.

(ii) What is neutralization reaction ? Give an example.
(iii) Give any three characteristics of homologous series.



35.

(<

) (1)
(i)

(iii)

(=) (1)

(a)

(b)

(i)

(1i1)

(i)
(i)

(ii)

(1)
(ii)

(iii)
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saaraflude smeynrsd seafleowd grewr(Hid anrrCurer erg ?
o Tmip anmiGrer el 2, @Ehemd anmTGTeT Term )6l sLI-
uhdlemmg ?
emorrsler Lflewmmng Carur@samer ellend@s.

36060
eThg QBMS Iq.eTem.er. -eneu GO L @)L migafled Qeul L1t LwieBEmg ?
aaflar YUIGam bl Qefbs @rear@h wisrsFCamer geliLjudfl
cuanaaaflen GUWeNT 6T(pa)s.
Lens (g F5e0lan 2 LISgISET wHMID Lansulameuler Sw allenareyser LH
elendEs.
Which hormotie.induees parthenocarpy in tomatoes ?

Why is thyroid hormone referred as ‘personality hormone’ ?

Explain Lamarck’s theories of evolution. m
Which enzyme cuts @at speci Igs@
Name twc&n zeeflygﬁds rich in amino- ac1d lysine.

Explain smoking hazards and the harmful effects of tobacco.
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